PHUCLOI SECONDARY SCHOOL MID - SECOND TERM TEST GRADE 8

Fullname: .........c.oovvvvenn.n.. Time limit: 45 minutes

Class: 8..... Schoolyear: 2020 — 2021
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I. Listen to the news report and tick T or F

Statements

True

False

1. Only a few people were seriously injured in the storm.

2. There wasn’t any damage to property in Cua Lo , a coastal town in Nghe An.

3. The storm had already weakened by the time emergency workers arrived in the area

medical supplies.

4. The government has already sent rescue equipment to Nghe An, as well as food and

few days.

5. According to the weather bureau, the heavy rain is expected to continue over the next

I1. Circle the word which has the different word stress.

D. employee
D. technology

D. legend

6. A. Chinese B. pollution C. contaminate
7. A. economic B. biology C. geography
I11. Circle the word which has the different word pronounced.
8. A. Erupt B. religious C. effect

9. A. canyon B. capital C. ancient

10. Water pollution make some aquatic animals

D. iconic
IV. Choose the best option (A, B, C or D) to complete the following sentences.

A. dying B. to die C. die D. died

11. English is an language in Singapore

A. office B. official C. officer D. officially
12. This animal, the , Is a symbol of Australia.

A. kangaroo B. panda C. rabbit D. tiger
13. Noise pollution can lead to loss.

A. looking B. hearing C. listening D. reading
14. Don’t drink that water. It’s :

A. contaminated B. pure C. damaged D. dumped
15. If you___ the president, what would you do to help the environment?

A. would be B. are C. had been D. were
16. A severe tropical is called a typhoon.

A. drought B. rain C. flood D. storm

17. The roof of the building

In a storm a few days ago.

A. damaged B. was damaged  C. has damaged D. has been damaged
18. As soon as the floodwater down, people their houses.
A. went - cleaned B. had gone - cleaned C. went - had cleaned D. had gone — had cleaned

19. The air is polluted smokes from the factories.
A. because B. although C. So

V. Each of the following sentences has one mistake. Find it

D. because of

20. Hundreds of houses destroyed after a tornado hit the small town of Texas.

A B C D

21. The earthquake occurred at midday when many people had had lunch.

A B C

D

22. The River Thames flows through southern England and connect London with the sea.

A B C

D




23. If 1 were you, | will plant vegetables in the garden.

A B C D
24. Last night, Peter went to the supermarket before he went home
A B C D

V1. Choose the correct answer to fill in the passage.

The Maori ....(25)... in New Zealand from other Polynesian islands over a thousand years ago.
They were the first people to live there. They made beautiful wooden buildings with pictures cut into
the wood. There are about 280,000 Maori today. Maori have brown skin, .....(26)...... and wavy black
hair. In 1840, they agreed to become ...(27)... colony, and they learned European ways quickly.
Today, there are Maori in all kinds of jobs. They ....( 28 )...schools and universities and become
lawyers and scientists. There are Maori in the government. Most of them live like the white New
Zealand.
However, the Maori do not forget their...(29)... Children learn the language, music and old stories.
They have yearly competitions in speaking, dancing, and singing. The Maori live a comfortable,
modern life, but they keep their traditions by ....(30)....them to their children.

25. A.come B. arrived C. went D. came

26. A.brown dark eyes B.dark brown eyes C. Brown eyes dark D. dark eyes brown
27. A. England B. British C. Britain D. France

28. A. Attend B. Go C. Come D. study

29. A. Countries B. Traditions C. Work D. parents

30. A. Pass B. to pass C. Passed D. passing

VI1l:Read the passage and choose the best answer for each of the following questions

The Great Hanshin earthquake, or the Kobe earthquake as it is more commonly known overseas,
was an earthquake in Japan that measured 7.3 on the Japan Meteorological Agency magnitude scale.
It occurred on January 17th, 1995 at 5:46 a.m. in the southern part of Hyogo Prefecture, and lasted for
approximately 20 seconds. The epicentre of the earthquake was on the northern end of Awaji Island
near Kobe, a cosmopolitan city of over 1.5 million people. A total of 6,434 people, mainly in the city of
Kobe, lost their lives. Additionally, it caused approximately ten trillion yen in damage. It was the worst
earthquake in Japan since the Great Kanto earthquake in 1923, which claimed 140,000 lives.

31.The word ‘overseas' in the text is closest in meaning to

A. abroad B. at sea C. by sea D. off the sea
32. The word ‘occurred’ in the text is closest in meaning to

A. ended B. happened C.started D. begin

33. It is stated in the passage that the number of deaths in the city of Kobe
A.was greater than that of the Great Kanto earthquake

B.was not as high as in the Great Kanto earthquake

C.exceeded that of any known earthquake

D. was as high as in the Great Kantd earthquake

34.The northern end of Awaji Island was the place where

A. the effects of the earthquake were felt most strongly



B. there was no damage to people and property
C. 1.5 million people lost their lives

D. over million people lost their lives

VI11. Rewrite the following sentences using the words given in the brackets.

35. I don’t have much money now, but I want to buy a house in Ha Noi. ( If)

36. Someone has stolen my bicycle.

= MY DICYCLE .o e
37. Many aquatic animals are dead. The water is polluted. ( due to)
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I. Listen to the news report and tick T or F.

Statements True | False
1. Dozens of people were seriously injured in the storm.
2. The severe winds caused extensive damage to property in Cua Lo , a coastal town in
Nghe An.
3. The storm had become stronger by the time emergency workers arrived in the area.
4. The government has already sent rescue equipment to Nghe An, as well as food and
medical supplies.
5. According to the weather bureau, the heavy rain is expected to continue over the next
few days.
Il. Circle the word which has the different word stress.
6. A. Japanese B. engineer C. technology D. economic
7. A. symbolize B. iconic C. pollutant D. artistic
I11. Circle the word which has the different word pronounced.
8. A. evacuate B. natural C. disaster D. scatter
9. A. cholera B. church C. challenge D. change
V1. Choose the best option (A, B, C or D) to complete the following sentences.
10. In some English speaking countries, turkey and pudding are food at Christmas.
A. national B. historical C. traditional D. possible
11. Polluted air in the city made Bob il
A. become B. became C. to become D. becoming
12. This animal, the , I a symbol of Australia.
A. rabbit B. panda C. kangaroo D. tiger
13. A huge wave that can destroy towns near the sea is called
A. drought B. earthquake C. typhoon D. tsunami
14, pollution can directly cause hearing loss.
A. noise B. visual C. Thermal D. Sail
15. If we children the importance of the environment, they will become more aware of saving
energy.
A. teach B. taught C. will teach D. had taught
16. The town hall badly by the fire last night.
A. damaged B. has damaged C. has been damaged D. was damaged
17. The air is polluted smokes from the factories.
A. because B. although C.So D. because of
18. Don’t drink that water. It’s :
A. pure B. damaged C. contaminated D. dumped
19. By the time | home, my family to the shelter with me.
A. arrived- took B. had arrived/ took C. arrived/ had taken D. had arrived- had taken

V. Each of the following sentences has one mistake. Find and correct it.
20. Ms Hong worked at our school for twenty years before she retired last June.
A B C D
21. The flood victims haven’t found by the police.
A B C D




22. The flight will take off at 19:10, so we need to hurry up.
A B C D
23. If the tourists don’t throw rubbish in the river, the water would be cleaner now.
A B C D
24. The most recognizable symbolic of Paris is the Eiffel Tower on the bank of Seine
A B C D
V1. Read the passage and choose the correct answer to fill in the passage.
The Maori ....(25)... in New Zealand from other Polynesian islands over a thousand years ago.
They were the first people to live there. They made beautiful wooden buildings with pictures cut into
the wood. There are about 280,000 Maori today. Maori have brown skin, .....(26)...... and wavy black
hair. In 1840, they agreed to become ...(27 )... colony, and they learned European ways quickly.
Today, there are Maori in all kinds of jobs. They ....( 28 )...schools and universities and become
lawyers and scientists. There are Maori in the government. Most of them live like the white New
Zealand.
However, the Maori do not forget their...(29 )... Children learn the language, music and old stories.
They have yearly competitions in speaking, dancing, and singing. The Maori live a comfortable,
modern life, but they keep their traditions by ....(30)....them to their children.

25. A.came B.come C. went D. arrived

26. A.brown dark eyes B. Brown eyes dark C. dark brown eyes D. dark eyes brown
27. A. England B. France C. Britain D. British

28. A. Attend B. Go C. Come D. study

29. A. Countries B. Work C. Traditions D. parents

30. A. Passing B. to pass C. Passed D. pass

VII:Read the passage and choose the best answer for each of the following questions

Tsunamis, whose name derives from the Japanese expression for ‘high wave in a harbour’, are
giant sea waves. These waves are quite different from storm surges. They are also referred to by the
general public as tidal waves although they have nothing to do with tides. Scientists often refer
to them as seismic sea waves, which is far more appropriate because they are often the result of
undersea seismic activity.
Tsunamis can be caused when the sea floor suddenly moves, during an underwater earthquake or
volcano, and the water above the moving earth is suddenly displaced. This sudden shift of water sets
off a series of waves. These waves can travel great distances, at speeds close to 700 kilometres per
hour. In the open ocean, tsunami waves are not very high, often no more than one or two metres. It is
when they hit the shallow waters near the coast that they increase in height, possibly up to 40 metres.
31.The passage mainly discusses
A. tidal waves B. tides C. tsunamis D. storm surges
32. All of the following is true about tidal waves EXCEPT
A. they are as another name for tsunamis
B. they are caused by sudden changes in high and low tides
C .this term is not used by the scientists

D. the name refer to the same phenomenon as seismic sea waves



33. The word ‘them’ in the passage refers to
A. tidal waves B.tsunamis C.storm surges D.sea waves
34. The word ‘displaced’ in the passage is closest in meaning to

A. located B. not pleased C. filtered D. moved

VI11. Rewrite the following sentences using the words given in the brackets.

35. A typhoon destroyed many buildings in this city 2 days ago.

= MaANY DUIIAINGS oo e
36. Because it rained heavily, the road in front of my house was flooded. ( because of )

39 We had lunch then we took a look around the shops. ( Before )
PSSP

40. They can’t make tea with cold water. ( made )
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I. Listen to the news report and tick T or F

Statements True | False
1. Only a few people were seriously injured in the storm. F
2. There wasn’t any damage to property in Cua Lo, a coastal town in Nghe An. F
3. The storm had already weakened by the time emergency workers arrived in the T
area
4. The government has already sent rescue equipment to Nghe An, as well as food T
and medical supplies.
5. According to the weather bureau, the heavy rain is expected to continue over the T
next few days.

Tapescript: Nghe An Province was bably affected again when a typhoon hit the area last night. The storm
began at around 11 p.m. and raged throughout the night. Dozens of people were seriously injured and hundreds
of others were left homeless. The severe winds caused extensive damage to property, including homes and
businesses, particularly in Cua Lo, a coastal town in Nghe An. The storm had already weakened by the time
emergency workers arrived in the area. Rescue operations have started and many people trapped in collapsed
or damaged buildings have been freed. Workers are now clearing up the debris left behind by the severe storm.
The government has already sent rescue equipment to Nghe An, as well as food and medical supplies. People
left homeless have been taken to safe areas, where temporary accommodation will be fuilt to house them. The
weather bureau has issued flood warnings for Nghe An and nearby provinces as heavy rain is expected to
continue over the next few days

I1. Circle the word which has the different word stress.

6. A. Chinese B. pollution C. contaminate D. employee
7. A. economic B. biology C. geography D. technology
I11. Circle the word which has the different word pronounced.

8. A. Erupt B. religious C. effect D. legend

9. A. canyon B. capital C. ancient D. iconic

IV. Choose the best option (A, B, C or D) to complete the following sentences.
10. Water pollution make some aquatic animals

A. dying B. to die C.die D. died

11. English is an language in Singapore

A. office B. official C. officer D. officially

12. This animal, the , IS a symbol of Australia.

A. kangaroo B. panda C. rabbit D. tiger
13. Noise pollution can lead to loss.

A. looking B. hearing C. listening D. reading
14. Don’t drink that water. It’s :

A. contaminated B. pure C. damaged D. dumped
15. If you__ the president, what would you do to help the environment?

A. would be B. are C. had been D. were
16. A severe tropical is called a typhoon.

A. drought B. rain C. flood D. storm
17. The roof of the building in a storm a few days ago.

A. damaged B. was damaged C. has damaged D. has been damaged

18. As soon as the floodwater down, people their houses.




A. went - cleaned B. had gone - cleaned C. went - had cleaned D. had gone — had cleaned
19. The air is polluted smokes from the factories.

A. because B. although C. So D. because of

V. Each of the following sentences has one mistake. Find it.

20. Hundreds of houses were destroyed after a tornado hit the small town of Texas.

21. The earthquake occurred at midday when many people were having lunch.

22. The River Thames flows through southern England and connects London with the sea.

23. If I were you, | would plant vegetables in the garden.

24. Last night, Peter went to the supermarket before he went home

V1. Choose the correct answer to fill in the passage.

25. A.come B. arrived C. went D. came

26. A.brown dark eyes B.dark brown eyes C. Brown eyes dark D. dark eyes brown
27. A. England B. British C. Britain D. France

28. A. Attend B. Go C. Come D. study

29. A. Countries B. Traditions C. Work D. parents

30. A. Pass B. to pass C. Passed D. passing

VII. Read the passage and choose the best answer

31.A 32.B 33.B 34 A

VI1I1.Rewrite the following sentences using the words given in the brackets.
35. I don’t have much money now, but I want to buy a house in Phu Cuong. ( If)
=> If | had much money, | would buy a house in Phu Cuong.

36. Someone has stolen by bicycle.

=> My bicycle has been stolen.

37. Many aquatic animals are dead. The water is polluted. ( due to)

=> Many aquatic animals are dead due to the polluted water.

38. She started learning French 1 month ago. ( has)

=> She has learned French for 1 month.

39. After David had gone home, we arrived.

40. English is spoken all over the world.



PHUC LOI SECONDARY SCHOOL MID - SECOND TERM TEST GRADE 8

2 Answer key
————— *khkhk —————

I. Listen to the news report and tick T or F

Statements True | False
1. Dozens of people were seriously injured in the storm. T
2. The severe winds caused extensive damage to property in Cua Lo, a coastal town | T
in Nghe An.
3. The storm had become stronger by the time emergency workers arrived in the area. F
4. The government has already sent rescue equipment to Nghe An, as well as food T
and medical supplies.
5. According to the weather bureau, the heavy rain is expected to continue over the T
next few days.
I1. Circle the word which has the different word stress.
6. A. Japanese B. engineer C. technology D. economic
7. A. symbolize B. iconic C. pollutant D. artistic
I11. Circle the word which has the different word pronunced. (0,5m)
8. A. evacuate B. natural C. disaster D. scatter
9. A. cholera B. church C. challenge D. change
IV. Choose the best option (A, B, C or D) to complete the following sentences.
10. In some English speaking countries, turkey and pudding are food at Christmas.
A. national B. historical C. traditional D. possible
11. Polluted air in the city made Bob il
A. become B. became C. to become D. becoming
12. This animal, the , I a symbol of Australia.
A. rabbit B. panda C. kangaroo D. tiger
13. A huge wave that can destroy towns near the sea is called
A. drought B. earthquake C. typhoon D. tsunami
14, pollution can directly cause hearing loss.
A. noise B. visual C. Thermal D. Sail
15. If we children the importance of the environment, they will become more aware of saving
energy.
A. teach B. taught C. will teach D. had taught
16. The town hall badly by the fire last night.
A. damaged B. has damaged C. has been damaged D. was damaged
17. The air is polluted smokes from the factories.
A. because B. although C.So D. because of
18. Don’t drink that water. It’s :
A. pure B. damaged C. contaminated D. dumped
19. By the time | home, my family to the shelter with me.
A. arrived- took B. had arrived/ took C. arrived/ had taken D. had arrived- had taken

V. Each of the following sentences has one mistake. Find and correct it.

20. Ms Hong had worked at our school for twenty years before she retired last June.

21. The flood victims haven’t been found by the police.

22. The flight takes off at 19:10, so we need to hurry up.

23. If the tourists didn’t throw rubbish in the river, the water would be cleaner now.



24. The most recognizable symbolic of Paris is the Eiffel Tower on the bank of Seine
V1. Choose the correct answer to fill in the passage.

25. A.came B.come C. went D. arrived

26. A.brown dark eyes B. Brown eyes dark C. dark brown eyes D. dark eyes brown
27. A. England B. France C. Britain D. British

28. A. Attend B. Go C. Come D. study

29. A. Countries  B. Work C. Traditions D. parents

30. A. Passing B. to pass C. Passed D. pass

V1I. Read the passage and choose the best answer

31.C 32.B 33. A 34.D

VI11. Rewrite the following sentences using the words given in the brackets.
35. A typhoon destroyed many buildings in this city 2 days ago.

=> Many buildings were destroyed in this city by a typhoon 2 days ago.

36. Because it rained heavily, the road in front of my house was flooded. ( because of )
=> Because of the heavy rain, the road in front of my house was flooded.
37. Peter began to play volleyball 2 years ago. ( has)

=> Peter has played volleyball 2 years ago.

38. People throw rubbish in the seas. The seas are polluted.( If)

=> If people didn’t throw rubbish in the seas, the seas wouldn’t be polluted.
39. Before we took a look around the shops, we had lunch.

40. Tea can’t be made with cold water.



MATRIX FOR MID — SECOND TERM TEST GRADE 8

LAIM:

Time : 45 minutes

- To test the language SS have studied and the skills they have practiced since unit 4 to unit 5:
speaking, reading, writing, listening.
- To test students’ knowledge from unit 7 to unit 9

Il. CONTENTS:
- Tenses.

- Vocabulary about pollution, English speaking countries and natural disasters.
- Compound and complex sentences.

- Passive voice.

- Conditional sentence type 1 and type 2.
- Word stress with words ending in —ee/ - eer, -ic/ -al.

MATRIX
Thinking level Total
Content topics Recall/recognition | Comprehension// | Application | of
understanding marks
TN TL TN TL TN TL
Listening 2 2 1 5
0,4p 0,4p 0,2p 1p
Pronunciation 1 2 1 4
0,2p 0,4p 0,2p
0,8p
Vocabulary and Grammar ) 6 4 15
- Choose the right answer
- Find mistakes 1p 1,2p 0,8p 3p
Reading 3 4 3 10
- Choose the correct answer to
fill in the passage 0,8p 0,6p | 2p
- Choose the best answer 0,6p
Writing 2 3 6
Rewrite sentences using the 1 0,4p
words given in brackets 0,2p 0,6p 1.2p
Total number of questions 8 3 10 8 6 6 40
Total of marks 1,6p 0,8p 2p 1,2p 12p |1,2p |10p
Percentage of marks 30% 40% 30%
Ban giam hiéu T6 (Nh6m) CM GV ra dé

Nguyén Thi Kim Dung







